I'\ﬂtl.l';g--t_ﬂrl.._t-ﬂ_l.f.l

n_ & N—="Y% =il (BB N—2a—F
K170 |[Cougar KC 1/10 2WD BEI/ N \F¥F—H—F Vb ¥59,000] 5051294081300
U1548 |7v+— M3 ¥380| 5051294012342
U1551 |EZ)v7 2X8(8) ¥380| 5051294012373
U1552 |R7VJv7 (10) ¥380| 5051294012380
U1633 |RAE=IEY ¥380| 5051294012571
U1960 [0 5 ¥380| 5051294013233
U2128 (€% M3 M4 M5 (15) ¥380| 5051294013608
U2231 [H—kKFk—2 (3) ¥950| 5051294014049
U2698 [F—IA7)9 5x10x4 (2) ¥750| 5051294017576
U2699 [F—=IbA7)5 10x15x4 (2) ¥750| 5051294017583
U2761 (724 10X12(8) ¥580| 5051294018153
U3021 [#5EZX M3X%X6(10) ¥380| 5051294020149
U3022 [#5EZX M3X%X8(10) ¥380| 5051294020156
U3023 [#5EZX M3X10(10) ¥380| 5051294020163
U3075 [F—=IA71)%9 4x8x3mm (2) ¥750| 5051294020668
U3131 [ZIVZAR—HY—tYyMM3I X7 0.5°1-2mm (18) ¥1,100| 5051294021214
U3136 [F—IbA71)9 5x8x2.5 (2) ¥750| 5051294021269
U3351 |83T AN—F+F ¥1,200| 5051294029043
U3364 [R)viv—ivyKk (2) ¥1,000| 5051294029173
U3572 [1ExY M3X14(4) ¥380| 5051294039745
U3667 |5 INx——NVT7vatyb (2) ¥750| 5051294041717
U3668 [ iv—v7bh 254774 (2) ¥1,960| 5051294041724
U3669 |4 1—+7b OV (2) ¥1,960| 5051294041731
U3690 |ZAvkiIsiN— ¥1,000] 5051294041946
U3691 [H—FKAN—H—(2) ¥380| 5051294041953
U3706 [AYRIUKE—=I+)4 vk (2) ¥840| 5051294042103
U3708 |[24v%9%9)y72.4mm (4) ¥600| 5051294042127
U3709 [RF7VL 97 —L22/b (2) ¥1,200] 5051294042134
U3710 |t 2—-b2v70YK ¥550| 5051294042141
U3715 [sravybE25mm (2) ¥1,200| 5051294042196
U3718 [7arka7z4A7—LE38mm (2) ¥850| 5051294042226
U3719 [VyO74RA7—LE45mm (2) ¥1,100| 5051294042233
U3729 (AR avynNnLOYRANR—H—(4) ¥600| 5051294042332
U3758 |78UMATFPVLIINT RZ8—K 5° (2) ¥1,300| 5051294042608
U3770 [Hviv—EARY & 1.5mm 375-—J)b (2) ¥840| 5051294042721
U3850 [wr19=ohyb ¥1,500] 5051294043520
U3871 [F—IA71)5 5x9x3 (2) ¥750| 5051294043735
U3937 [raviyeobh75—(4) ¥750| 5051294044398
U3938 [Fra7v+—2mm(10) ¥380| 5051294069698
U4031 [Z7aVbERTF1RANTIUM ¥600| 5051294070458
U4036 |Vx/\v7 (2) ¥1,580| 5051294070502
U4055 [VvyO77—L4 (2) ¥1,500| 5051294070694
U4094 |78 MNIVOAYR ¥1,400| 5051294073404
U4110 [#7O0-KkK3v40)% (8) ¥380| 5051294073565
U4124 (2L 5X7X0.4(6) ¥380| 5051294073701
U4176 [F7Frtvh ¥1,880| 5051294074227
U4178 |¥¥5T2hv7 ¥1,100| 5051294074241
U4195 |RS17 7y )Y) ¥4,700| 5051294074418
U4210 [/ERZM3x3mm (10) ¥380| 5051294074562
U4224 |Z2—=2no2)AYK 60mm ¥930| 5051294074708
U4273 [70FK—=INVIUR 20 7a—bk (4) ¥750| 5051294078423
U4274 |70FK-IVI /K a—b(4) ¥750| 5051294078430
U4275 |70&F—-II K OY% (4) ¥750| 5051294078447
U4299 |4—2nv2)bAYK 52mm ¥930| 5051294078683




I'\ﬂtl.l';g--t_ﬂrl.._t-ﬂ_l.f.l

n_ & N—="Y% =il (BB N—2a—F
K170 |[Cougar KC 1/10 2WD BEI/ N \F¥F—H—F Vb ¥59,000] 5051294081300
U1548 |7v+— M3 ¥380| 5051294012342
U1551 |EZ)v7 2X8(8) ¥380| 5051294012373
U1552 |R7VJv7 (10) ¥380| 5051294012380
U1633 |RAE=IEY ¥380| 5051294012571
U1960 [0 5 ¥380| 5051294013233
U2128 (€% M3 M4 M5 (15) ¥380| 5051294013608
U2231 [H—kKFk—2 (3) ¥950| 5051294014049
U2698 [F—IA7)9 5x10x4 (2) ¥750| 5051294017576
U2699 [F—=IbA7)5 10x15x4 (2) ¥750| 5051294017583
U2761 (724 10X12(8) ¥580| 5051294018153
U3021 [#5EZX M3X%X6(10) ¥380| 5051294020149
U3022 [#5EZX M3X%X8(10) ¥380| 5051294020156
U3023 [#5EZX M3X10(10) ¥380| 5051294020163
U3075 [F—=IA71)%9 4x8x3mm (2) ¥750| 5051294020668
U3131 [ZIVZAR—HY—tYyMM3I X7 0.5°1-2mm (18) ¥1,100| 5051294021214
U3136 [F—IbA71)9 5x8x2.5 (2) ¥750| 5051294021269
U3351 |83T AN—F+F ¥1,200| 5051294029043
U3364 [R)viv—ivyKk (2) ¥1,000| 5051294029173
U3572 [1ExY M3X14(4) ¥380| 5051294039745
U3667 |5 INx——NVT7vatyb (2) ¥750| 5051294041717
U3668 [ iv—v7bh 254774 (2) ¥1,960| 5051294041724
U3669 |4 1—+7b OV (2) ¥1,960| 5051294041731
U3690 |ZAvkiIsiN— ¥1,000] 5051294041946
U3691 [H—FKAN—H—(2) ¥380| 5051294041953
U3706 [AYRIUKE—=I+)4 vk (2) ¥840| 5051294042103
U3708 |[24v%9%9)y72.4mm (4) ¥600| 5051294042127
U3709 [RF7VL 97 —L22/b (2) ¥1,200] 5051294042134
U3710 |t 2—-b2v70YK ¥550| 5051294042141
U3715 [sravybE25mm (2) ¥1,200| 5051294042196
U3718 [7arka7z4A7—LE38mm (2) ¥850| 5051294042226
U3719 [VyO74RA7—LE45mm (2) ¥1,100| 5051294042233
U3729 (AR avynNnLOYRANR—H—(4) ¥600| 5051294042332
U3758 |78UMATFPVLIINT RZ8—K 5° (2) ¥1,300| 5051294042608
U3770 [Hviv—EARY & 1.5mm 375-—J)b (2) ¥840| 5051294042721
U3850 [wr19=ohyb ¥1,500] 5051294043520
U3871 [F—IA71)5 5x9x3 (2) ¥750| 5051294043735
U3937 [raviyeobh75—(4) ¥750| 5051294044398
U3938 [Fra7v+—2mm(10) ¥380| 5051294069698
U4031 [Z7aVbERTF1RANTIUM ¥600| 5051294070458
U4036 |Vx/\v7 (2) ¥1,580| 5051294070502
U4055 [VvyO77—L4 (2) ¥1,500| 5051294070694
U4094 |78 MNIVOAYR ¥1,400| 5051294073404
U4110 [#7O0-KkK3v40)% (8) ¥380| 5051294073565
U4124 (2L 5X7X0.4(6) ¥380| 5051294073701
U4176 [F7Frtvh ¥1,880| 5051294074227
U4178 |¥¥5T2hv7 ¥1,100| 5051294074241
U4195 |RS17 7y )Y) ¥4,700| 5051294074418
U4210 [/ERZM3x3mm (10) ¥380| 5051294074562
U4224 |Z2—=2no2)AYK 60mm ¥930| 5051294074708
U4273 [70FK—=INVIUR 20 7a—bk (4) ¥750| 5051294078423
U4274 |70FK-IVI /K a—b(4) ¥750| 5051294078430
U4275 |70&F—-II K OY% (4) ¥750| 5051294078447
U4299 |4—2nv2)bAYK 52mm ¥930| 5051294078683




g & N=Y% =il (BR0) N—a—F
U4314 [ZIVZ7v+—(16) ¥850( 5051294078836
U4365 DX HR1=IV75v% (2) ¥950| 5051294079345
U4367 [ZAYbPFRL1=ITZ7 (2) ¥950| 5051294079369
U4371 |72+ RT4TFINT 299 ¥1,120] 5051294041700
U4380 [7aYb/V7 (2) ¥1,300] 5051294079499
U4381 (21v9%97)v7(4) ¥380| 5051294079505
U4382 [Zab72R (2) ¥1,120] 5051294079512
U4385 [¥¥FZJENMFYbM ¥1,200] 5051294079543
U4388 [JtrskT1—ILiNT ¥1,500] 5051294079574
U4389 |7AYbHRL=IINT ¥1,500] 5051294079581
U4451 [avoh3—0V7 (4) ¥380| 5051294085841
U4462 |[FhLT7L—b ¥1,780| 5051294085957
U4486 [V RL—=IbRFV Y ANR—H— ¥380( 5051294086190
U4488 [FZ17E>12mm ¥380| 5051294086213
U4490 [FoN=)08— ST17 L ¥2,400| 5051294086237
U4491 [ZNN=I) 48— 1) ¥2,400] 5051294086244
U4650 [FrorF+vb M3 (10) ¥400| 5051294091583
U4660 |Z7aYbRL=IW(RVL TF59%7)(2) ¥950| 5051294093433
U4669 [L1+7b ¥1,400] 5051294093525
U4672 [RUYN=FIIhIN=TL—b ¥1,200] 5051294093556
U4674 [RUYIN=RTV 9792 ¥400( 5051294093570
U4677 |7—1)-20T ¥2,000] 5051294093600
U4683 AN a7Aav%7R ¥1,000] 5051294093662
U4684 |HANRSa7avIL ¥1,000] 5051294093679
U4688 [RF7Uro/nfaybary ¥800( 5051294093716
U4689 [RF7Ur 11O vbra—b ¥400| 5051294093723
U4700 [F=lbxk2)b509(4) ¥800| 5051294093839
U4701 |F2N—EAXbY ¢ 1.6mm 37F—Jb (2) ¥800( 5051294093846
U4702 |Savo=NviNoo 2 9N2 (2) ¥1,000] 5051294093853
U4704 [F=IIT /R4 vb(8) ¥1,200] 5051294093877
U4705 [ZZINISLF—=RUYIN=TL—b ¥1,200] 5051294093884
U4707 |a—bF=-NITR)9vh (8) ¥1,200] 5051294093907
U4712 |F7R0U 9 ¥450| 5051294093952
U4719 |71y bh70v% ¥2,000] 5051294094027
U4736 [F—=ILREYR7Y+—(8) ¥400| 5051294094195
U4737 |F=NTasrrbra—bk(4) ¥1,000] 5051294094201
U4738 [FK—=Iardbar ¥ (4) ¥1,000] 5051294094218
U4757 [U1RF¥+25T ¥2,000] 5051294094409
U4758 [U1R¥+35T ¥2,000] 5051294094416
U4765 |JKRERFVBH ¥400| 5051294094485
U4771 |7-1)=23220T ¥1,650| 5051294094546
U4773 [ZTFHENE— ¥600( 5051294094560
U4778 [VKRAMYT ¥600( 5051294094614
U4783 V¥ 7ohEY (2) ¥1,450| 5051294094669
U4835 [M37+vh(8) ¥400( 5051294097776
U5129 [217(2)F—) fligE ¥1,450| 5051294066987
U5134 [KCETF1tvb (D1/R=2R2/FhH=IV) ¥3,600| 5051294067038
CR024 |M4k—1—=IvFVh (4) ¥470| 5051294001575
U7034 |7V +>— Cougar KC/D ¥5,800| 5051294115807
U7035 |h—FKB1REKE YK (2) Cougar KC/D ¥2,400] 5051294115814
U7036 |[h—FKr70 b8 I8—AF7— CougarKC/D ¥1,600| 5051294115821
U7037 |h—FK Vv & 18\—RAF— CougarKC/D ¥1,900| 5051294115838
U7038 |[h—kKr70M) 722k CougarKC/D ¥1,000] 5051294115845
U7039 |A—FJ¥)72 22k CougarkC ¥850| 5051294115852
U7040 [H—F V¥ ET1v)/b CougarKC ¥850| 5051294115869
U7041 [H—FK7LRIV+7M)7—3F— CougarKC ¥680( 5051294115876
U7042 [h—FrOr7)FEAFY7 (2) CougarKC/D ¥1,600] 5051294115883
U7043 [Hh—FK>rra—bIFEAFY7 (2) CougarKC/D ¥1,300] 5051294115890
U7045 [UFRFEAPRZ5—FK CougarKC/D ¥550| 5051294115913
U7046 |JsRFKEAMa—b CougarKC/D ¥550[ 5051294115920




g & N=Y% =il (BR0) N—a—F
U4314 [ZIVZ7v+—(16) ¥850( 5051294078836
U4365 DX HR1=IV75v% (2) ¥950| 5051294079345
U4367 [ZAYbPFRL1=ITZ7 (2) ¥950| 5051294079369
U4371 |72+ RT4TFINT 299 ¥1,120] 5051294041700
U4380 [7aYb/V7 (2) ¥1,300] 5051294079499
U4381 (21v9%97)v7(4) ¥380| 5051294079505
U4382 [Zab72R (2) ¥1,120] 5051294079512
U4385 [¥¥FZJENMFYbM ¥1,200] 5051294079543
U4388 [JtrskT1—ILiNT ¥1,500] 5051294079574
U4389 |7AYbHRL=IINT ¥1,500] 5051294079581
U4451 [avoh3—0V7 (4) ¥380| 5051294085841
U4462 |[FhLT7L—b ¥1,780| 5051294085957
U4486 [V RL—=IbRFV Y ANR—H— ¥380( 5051294086190
U4488 [FZ17E>12mm ¥380| 5051294086213
U4490 [FoN=)08— ST17 L ¥2,400| 5051294086237
U4491 [ZNN=I) 48— 1) ¥2,400] 5051294086244
U4650 [FrorF+vb M3 (10) ¥400| 5051294091583
U4660 |Z7aYbRL=IW(RVL TF59%7)(2) ¥950| 5051294093433
U4669 [L1+7b ¥1,400] 5051294093525
U4672 [RUYN=FIIhIN=TL—b ¥1,200] 5051294093556
U4674 [RUYIN=RTV 9792 ¥400( 5051294093570
U4677 |7—1)-20T ¥2,000] 5051294093600
U4683 AN a7Aav%7R ¥1,000] 5051294093662
U4684 |HANRSa7avIL ¥1,000] 5051294093679
U4688 [RF7Uro/nfaybary ¥800( 5051294093716
U4689 [RF7Ur 11O vbra—b ¥400| 5051294093723
U4700 [F=lbxk2)b509(4) ¥800| 5051294093839
U4701 |F2N—EAXbY ¢ 1.6mm 37F—Jb (2) ¥800( 5051294093846
U4702 |Savo=NviNoo 2 9N2 (2) ¥1,000] 5051294093853
U4704 [F=IIT /R4 vb(8) ¥1,200] 5051294093877
U4705 [ZZINISLF—=RUYIN=TL—b ¥1,200] 5051294093884
U4707 |a—bF=-NITR)9vh (8) ¥1,200] 5051294093907
U4712 |F7R0U 9 ¥450| 5051294093952
U4719 |71y bh70v% ¥2,000] 5051294094027
U4736 [F—=ILREYR7Y+—(8) ¥400| 5051294094195
U4737 |F=NTasrrbra—bk(4) ¥1,000] 5051294094201
U4738 [FK—=Iardbar ¥ (4) ¥1,000] 5051294094218
U4757 [U1RF¥+25T ¥2,000] 5051294094409
U4758 [U1R¥+35T ¥2,000] 5051294094416
U4765 |JKRERFVBH ¥400| 5051294094485
U4771 |7-1)=23220T ¥1,650| 5051294094546
U4773 [ZTFHENE— ¥600( 5051294094560
U4778 [VKRAMYT ¥600( 5051294094614
U4783 V¥ 7ohEY (2) ¥1,450| 5051294094669
U4835 [M37+vh(8) ¥400( 5051294097776
U5129 [217(2)F—) fligE ¥1,450| 5051294066987
U5134 [KCETF1tvb (D1/R=2R2/FhH=IV) ¥3,600| 5051294067038
CR024 |M4k—1—=IvFVh (4) ¥470| 5051294001575
U7034 |7V +>— Cougar KC/D ¥5,800| 5051294115807
U7035 |h—FKB1REKE YK (2) Cougar KC/D ¥2,400] 5051294115814
U7036 |[h—FKr70 b8 I8—AF7— CougarKC/D ¥1,600| 5051294115821
U7037 |h—FK Vv & 18\—RAF— CougarKC/D ¥1,900| 5051294115838
U7038 |[h—kKr70M) 722k CougarKC/D ¥1,000] 5051294115845
U7039 |A—FJ¥)72 22k CougarkC ¥850| 5051294115852
U7040 [H—F V¥ ET1v)/b CougarKC ¥850| 5051294115869
U7041 [H—FK7LRIV+7M)7—3F— CougarKC ¥680( 5051294115876
U7042 [h—FrOr7)FEAFY7 (2) CougarKC/D ¥1,600] 5051294115883
U7043 [Hh—FK>rra—bIFEAFY7 (2) CougarKC/D ¥1,300] 5051294115890
U7045 [UFRFEAPRZ5—FK CougarKC/D ¥550| 5051294115913
U7046 |JsRFKEAMa—b CougarKC/D ¥550[ 5051294115920




g & N=Y% =il (BR0) N—a—F
U7049 [KF1=eo/bE=IT12%Y CougarKC/D ¥850| 5051294115951
U7052 [ZZIVIVXBIS U ARZYavivoov% OF7 LH Cougar K ¥2,400] 5051294115982
U7053 [ZIVIVXY BRI ARSI avivoo¥y O7 RH Cougar K ¥2,400] 5051294115999
U7054 [ZZIVIVX I ARZYIavivoovy 7vi18—LH Coug ¥2,400] 5051294116002
U7055 [ZZIVIVXY IS ARZEYI 3oy 7v15—RH Coug ¥2,400] 5051294116019
U7056 |7IWVEL A+ 7F¥2FLH Cougar KC ¥2,400] 5051294116026
U7057 |[ZNEL 12+ ZR22FRH Cougar KC ¥2,400] 5051294116033
U7058 |7IVSE—%2—7L—b Cougar KC ¥1,300] 5051294116040
U7059 |7Z71RI+7b Cougar KC ¥850| 5051294116057
U7060 [ZZALRIVAN—H— Cougar KC ¥400( 5051294116064
U7061 |J/s—AF+" Cougar KC ¥850| 5051294116071
U7062 [J/s—=RFKAXP Cougar KC ¥400| 5051294116088
U7063 |Z7avba—Jv/s—K Al Cougar KC ¥850| 5051294116095
U7064 |L1+7bAAN—H— Cougar KC ¥400| 5051294116101
U7065 |ARUYIN=RTV9717L—b 2WD/4WD ¥400| 5051294116118
U7066 [F777h7vbEY (2) Cougar KC ¥400| 5051294116125
U7067 [¥¥TF7=22T1% Cougar KC ¥1,300] 5051294116132
U7068 |T*+tM)v% (2) Cougar KC ¥850| 5051294116149
U7069 [#—b#/5—Cougar KC ¥850( 5051294116156
U7070 [¥1FA75— Cougar KC ¥850| 5051294116163
U7074 |h—FhoTTvEEINERTIZar4) CougarkC/D ¥2,500] 5051294116200
U7075 [J¥~IVk 113T x 4mm(GREZ S a2 1) Cougar KC ¥1,500] 5051294116217
U7076 [J¥~JVk 99T x 4mm(GEZ>3>2) Cougar KC ¥1,500] 5051294116224
U7077 [J¥~IVE 71T x 4mm(GEZ >3 3) Cougar KC ¥1,500] 5051294116231
U7078 [J¥~JVk 59T x 4mm(GRZ >3~ 4) Cougar KC ¥1,500] 5051294116248
U7079 |7arb7obE—-FEFRYMEY (2) Cougar KC/D ¥850| 5051294116255
U7080 DX HAN I3 ARZv7Cougar KC/D ¥1,600| 5051294116262
U7081 [Zaba77—L4 (2) Cougar KC/D ¥1,350] 5051294116279
U7082 [U¥70OyHAN—H— Cougar KC ¥680( 5051294116286
U7083 [U¥AbFY 7 AX—H%— CougarKC/D ¥680| 5051294116293
U7084 [avoby71)% (2) CougarKC/D ¥850| 5051294116309
U7085 [avobv7 (2) CougarKC/D ¥680( 5051294116316
U7088 [F—IWAF)>55X10X4(2)

U7089 [F—=IA7)VJ5X11X5(2)

U7090 |[1ERT M4X20(4) ¥400| 5051294116361
U7094 |A—FbvTTod IR ERIZar1) CougarkC ¥2,500] 5051294116408
U7095 |[A—FhyTTodEINERTIZar2) CougarkC ¥2,500] 5051294116415
U7096 |A—FhyTToEEINFETIZar3) CougarkC ¥2,500] 5051294116422
U7102 [KE2EZX M3x4 (10) ¥400( 5051294116484
U7104 [FE2EZX M3x8 (10) ¥400| 5051294116507
U7105 [KE2EX M3x10 (10) ¥400( 5051294116514
U7106 (K2 EX M3x12 (10) ¥400| 5051294116521
U7107 [KE2EX M3x16 (10) ¥400| 5051294116538
U7108 [K&EZX M3x20 (10) ¥400| 5051294116545
U7112 [F+v7EZX M3x8 (10) ¥400| 5051294116583
U7113 [F+v7EZX M3x10(10) ¥400( 5051294116590
U7118 [F+v7EZX M3x30(10) ¥400( 5051294116644
U7121 [H3EX M2.5X12(10) ¥400| 5051294116675
U7122 [5EZX M3X12(10) ¥400| 5051294116682
U7129 [¥+¥F7t b Cougar KC ¥4,600| 5051294116750
U7133 |714v99V),72.4X1.5(4) 2WD/4WD ¥400| 5051294116798
CR177_|EYIF72av9ZxT) 7€k 37474 (5) ¥4,700] 5051294048396
CR178 |Ev %7 vavox7) vk 0o J (5) ¥4,700] 5051294048402




g & N=Y% =il (BR0) N—a—F
U7049 [KF1=eo/bE=IT12%Y CougarKC/D ¥850| 5051294115951
U7052 [ZZIVIVXBIS U ARZYavivoov% OF7 LH Cougar K ¥2,400] 5051294115982
U7053 [ZIVIVXY BRI ARSI avivoo¥y O7 RH Cougar K ¥2,400] 5051294115999
U7054 [ZZIVIVX I ARZYIavivoovy 7vi18—LH Coug ¥2,400] 5051294116002
U7055 [ZZIVIVXY IS ARZEYI 3oy 7v15—RH Coug ¥2,400] 5051294116019
U7056 |7IWVEL A+ 7F¥2FLH Cougar KC ¥2,400] 5051294116026
U7057 |[ZNEL 12+ ZR22FRH Cougar KC ¥2,400] 5051294116033
U7058 |7IVSE—%2—7L—b Cougar KC ¥1,300] 5051294116040
U7059 |7Z71RI+7b Cougar KC ¥850| 5051294116057
U7060 [ZZALRIVAN—H— Cougar KC ¥400( 5051294116064
U7061 |J/s—AF+" Cougar KC ¥850| 5051294116071
U7062 [J/s—=RFKAXP Cougar KC ¥400| 5051294116088
U7063 |Z7avba—Jv/s—K Al Cougar KC ¥850| 5051294116095
U7064 |L1+7bAAN—H— Cougar KC ¥400| 5051294116101
U7065 |ARUYIN=RTV9717L—b 2WD/4WD ¥400| 5051294116118
U7066 [F777h7vbEY (2) Cougar KC ¥400| 5051294116125
U7067 [¥¥TF7=22T1% Cougar KC ¥1,300] 5051294116132
U7068 |T*+tM)v% (2) Cougar KC ¥850| 5051294116149
U7069 [#—b#/5—Cougar KC ¥850( 5051294116156
U7070 [¥1FA75— Cougar KC ¥850| 5051294116163
U7074 |h—FhoTTvEEINERTIZar4) CougarkC/D ¥2,500] 5051294116200
U7075 [J¥~IVk 113T x 4mm(GREZ S a2 1) Cougar KC ¥1,500] 5051294116217
U7076 [J¥~JVk 99T x 4mm(GEZ>3>2) Cougar KC ¥1,500] 5051294116224
U7077 [J¥~IVE 71T x 4mm(GEZ >3 3) Cougar KC ¥1,500] 5051294116231
U7078 [J¥~JVk 59T x 4mm(GRZ >3~ 4) Cougar KC ¥1,500] 5051294116248
U7079 |7arb7obE—-FEFRYMEY (2) Cougar KC/D ¥850| 5051294116255
U7080 DX HAN I3 ARZv7Cougar KC/D ¥1,600| 5051294116262
U7081 [Zaba77—L4 (2) Cougar KC/D ¥1,350] 5051294116279
U7082 [U¥70OyHAN—H— Cougar KC ¥680( 5051294116286
U7083 [U¥AbFY 7 AX—H%— CougarKC/D ¥680| 5051294116293
U7084 [avoby71)% (2) CougarKC/D ¥850| 5051294116309
U7085 [avobv7 (2) CougarKC/D ¥680( 5051294116316
U7088 [F—IWAF)>55X10X4(2)

U7089 [F—=IA7)VJ5X11X5(2)

U7090 |[1ERT M4X20(4) ¥400| 5051294116361
U7094 |A—FbvTTod IR ERIZar1) CougarkC ¥2,500] 5051294116408
U7095 |[A—FhyTTodEINERTIZar2) CougarkC ¥2,500] 5051294116415
U7096 |A—FhyTToEEINFETIZar3) CougarkC ¥2,500] 5051294116422
U7102 [KE2EZX M3x4 (10) ¥400( 5051294116484
U7104 [FE2EZX M3x8 (10) ¥400| 5051294116507
U7105 [KE2EX M3x10 (10) ¥400( 5051294116514
U7106 (K2 EX M3x12 (10) ¥400| 5051294116521
U7107 [KE2EX M3x16 (10) ¥400| 5051294116538
U7108 [K&EZX M3x20 (10) ¥400| 5051294116545
U7112 [F+v7EZX M3x8 (10) ¥400| 5051294116583
U7113 [F+v7EZX M3x10(10) ¥400( 5051294116590
U7118 [F+v7EZX M3x30(10) ¥400( 5051294116644
U7121 [H3EX M2.5X12(10) ¥400| 5051294116675
U7122 [5EZX M3X12(10) ¥400| 5051294116682
U7129 [¥+¥F7t b Cougar KC ¥4,600| 5051294116750
U7133 |714v99V),72.4X1.5(4) 2WD/4WD ¥400| 5051294116798
CR177_|EYIF72av9ZxT) 7€k 37474 (5) ¥4,700] 5051294048396
CR178 |Ev %7 vavox7) vk 0o J (5) ¥4,700] 5051294048402




K N=Y% Effi (BEEl) IN—a—F
U7318 [#=1vw70haYRFE22 53mm (2) ¥1,000] 5051294125080
U7319 [#=1vw20ayRF%22 60mm (2) ¥1,000] 5051294125097
U1954 [7ORXS AT T ¥2,700] 5051294013219
U2566 [#—/vwo2hOYEFZ2 45mm ¥2,150] 5051294016333
U3348 (80T R/v—F¥ ¥1,200] 5051294029012
U3350 (82T R/v—F¥ ¥1,200] 5051294029036
U3499 [D¥o—-N/x—B7av7 ¥900| 5051294033088
U3605 [ZIVIVXINTT1° ¥5,450] 5051294041373
U3670 [FI8—EARRY 27F—) (2) ¥850] 5051294041748
U3673 |[av92 A7) 98Y ST147 4 (7) ¥6,300| 5051294041779
U3674 [Savo2X7) 7Yk 0% (6) ¥6,300] 5051294041786
U3712 [ZNIZA/RRTFFITNT R 5—K0° (2) ¥1,300] 5051294042165
U3740 [¥77Y>+—18mm ¥800| 5051294042448
U3750 [F7279R7TVh AR ¥1,400] 5051294042523
U3751 [F279RT Ik XX ¥1,400] 5051294042530
U3782 [#1¥754L N—FK(4) ¥560] 5051294042844
U3790 |76T R/Iv—FF ¥1,200] 5051294042929
U4054 [D¥O77—L3ST17 L (2) ¥1,500] 5051294070687
U4226 |71T ZIv—F¥ ¥1,200] 5051294074722
U4228 [ZNIZA/MRTFFITNTRE25—K5° (2) ¥4500] 5051294074746
U4285 [#70—-kav50)570(8) ¥1,120] 5051294078546
U4366 (V¥ ka—IV(FI1h)(2) ¥950| 5051294079352
U4550 |[Zorra—=Ivis—RAa=-IIN\—257 (4) ¥750] 5051294086831
U4368 [ZavbRL—=I(FI1M)(2) ¥950] 5051294079376
U4619 |77t 2—h7vo70OYK ¥2,860] 5051294091286
U4620 [ZIVEINTF+)7 E-BHEVR ¥4,800] 5051294091293
U4660 [Za b RL=I(AVL T59%7)(2) ¥950] 5051294093433
U4661 [ZAVhR1A—=I(RVL F74R) (2) ¥950| 5051294093440
U4670 [RUyIs—H/5— ¥1,400] 5051294093532
U4671 [SYRRYYIN—TL—h ¥1,200] 5051294093549
V4673 |RUYIN—RAT) T ¥400] 5051294093563
U4703 [ZNZZAU/bARTFFITINTRE5—K 0° ¥4,000] 5051294093860
U4719 [ZhNInnqsovh7ovs ¥2,000] 5051294094027
U4800 [D¥O—Jv/x—FE—=)l (2) ¥1,000] 5051294094836
U4860 [A—)¥Fk1A—=IV/\7 (2) ¥1,300] 5051294098025
U4890 |[ZINISFLIN—RAT)Th7 (2) ¥2,000] 5051294098322
U4996 [F—IF 7Yk CougarKC ¥6,400] 5051294099381
U4997 [F=WNF77—=1)—-75,< CougarKC ¥1,900] 5051294099398
U4998 [ZII)X /7t Yh 2WD/4WD ¥5,200] 5051294099404
U4999 (7O VM7 IARESR ¥2,050] 5051294099411
U5130 [2190GR71b) (REE ¥1,600] 5051294066994
US5131 [919(735v7) BEE ¥1,600] 5051294067007
U5132 [910(h—F HR) HREE ¥1,600] 5051294067014
CRO35 [MAFkA—=INFYhTIN—(4) ¥1,400] 5051294001674
CR036 [M4AFrA—=IFyhix—TF) (4) ¥1,400] 5051294001681
CR192 [ZNIH—FKF—> &I ¥700] 5051294048549
CR193 [ZNIH—FKF—> H7 ¥700] 5051294048556
CR196 [MAFA—NFIhT5v% (4) ¥1,400] 5051294048587
U6759 [AvbRZyAH—AVUL:2WDAZO k ¥1,460] 5051294045135
U6770 [AvhR2yA—AO—70:2WDA7AVM ¥1,460] 5051294045241
U6558 |S=Z/51%:2WD/4AWDH¥ V)Y ¥1,550] 5051294023607
U6804 [S=F.2:2WD/4WD ¥HEV+ ¥1,550] 5051294100070
U6824 [S=4—k:2WDEZOVH ¥1,460] 5051294100988
U6826 [S=4—h:2WD/4WDHHAH)Y ¥1,550] 5051294101008
U6738 [1~F7—2WDH Zavk ¥400| 5051294029630
U6734 [1F+—2WD/4WDHH Jv ¥400| 5051294024277
U7030 [F7&F—IT/C2.5mm(14)

U7031 [Zorda—=Iv/s—RAJ4%YF8mm (4) ¥580] 505129405777
U7047 [DX ARG AR 2 av A5y 7B Cougar KC/D ¥2,350] 5051294115937




K N=Y% Effi (BEEl) IN—a—F
U7318 [#=1vw70haYRFE22 53mm (2) ¥1,000] 5051294125080
U7319 [#=1vw20ayRF%22 60mm (2) ¥1,000] 5051294125097
U1954 [7ORXS AT T ¥2,700] 5051294013219
U2566 [#—/vwo2hOYEFZ2 45mm ¥2,150] 5051294016333
U3348 (80T R/v—F¥ ¥1,200] 5051294029012
U3350 (82T R/v—F¥ ¥1,200] 5051294029036
U3499 [D¥o—-N/x—B7av7 ¥900| 5051294033088
U3605 [ZIVIVXINTT1° ¥5,450] 5051294041373
U3670 [FI8—EARRY 27F—) (2) ¥850] 5051294041748
U3673 |[av92 A7) 98Y ST147 4 (7) ¥6,300| 5051294041779
U3674 [Savo2X7) 7Yk 0% (6) ¥6,300] 5051294041786
U3712 [ZNIZA/RRTFFITNT R 5—K0° (2) ¥1,300] 5051294042165
U3740 [¥77Y>+—18mm ¥800| 5051294042448
U3750 [F7279R7TVh AR ¥1,400] 5051294042523
U3751 [F279RT Ik XX ¥1,400] 5051294042530
U3782 [#1¥754L N—FK(4) ¥560] 5051294042844
U3790 |76T R/Iv—FF ¥1,200] 5051294042929
U4054 [D¥O77—L3ST17 L (2) ¥1,500] 5051294070687
U4226 |71T ZIv—F¥ ¥1,200] 5051294074722
U4228 [ZNIZA/MRTFFITNTRE25—K5° (2) ¥4500] 5051294074746
U4285 [#70—-kav50)570(8) ¥1,120] 5051294078546
U4366 (V¥ ka—IV(FI1h)(2) ¥950| 5051294079352
U4550 |[Zorra—=Ivis—RAa=-IIN\—257 (4) ¥750] 5051294086831
U4368 [ZavbRL—=I(FI1M)(2) ¥950] 5051294079376
U4619 |77t 2—h7vo70OYK ¥2,860] 5051294091286
U4620 [ZIVEINTF+)7 E-BHEVR ¥4,800] 5051294091293
U4660 [Za b RL=I(AVL T59%7)(2) ¥950] 5051294093433
U4661 [ZAVhR1A—=I(RVL F74R) (2) ¥950| 5051294093440
U4670 [RUyIs—H/5— ¥1,400] 5051294093532
U4671 [SYRRYYIN—TL—h ¥1,200] 5051294093549
V4673 |RUYIN—RAT) T ¥400] 5051294093563
U4703 [ZNZZAU/bARTFFITINTRE5—K 0° ¥4,000] 5051294093860
U4719 [ZhNInnqsovh7ovs ¥2,000] 5051294094027
U4800 [D¥O—Jv/x—FE—=)l (2) ¥1,000] 5051294094836
U4860 [A—)¥Fk1A—=IV/\7 (2) ¥1,300] 5051294098025
U4890 |[ZINISFLIN—RAT)Th7 (2) ¥2,000] 5051294098322
U4996 [F—IF 7Yk CougarKC ¥6,400] 5051294099381
U4997 [F=WNF77—=1)—-75,< CougarKC ¥1,900] 5051294099398
U4998 [ZII)X /7t Yh 2WD/4WD ¥5,200] 5051294099404
U4999 (7O VM7 IARESR ¥2,050] 5051294099411
U5130 [2190GR71b) (REE ¥1,600] 5051294066994
US5131 [919(735v7) BEE ¥1,600] 5051294067007
U5132 [910(h—F HR) HREE ¥1,600] 5051294067014
CRO35 [MAFkA—=INFYhTIN—(4) ¥1,400] 5051294001674
CR036 [M4AFrA—=IFyhix—TF) (4) ¥1,400] 5051294001681
CR192 [ZNIH—FKF—> &I ¥700] 5051294048549
CR193 [ZNIH—FKF—> H7 ¥700] 5051294048556
CR196 [MAFA—NFIhT5v% (4) ¥1,400] 5051294048587
U6759 [AvbRZyAH—AVUL:2WDAZO k ¥1,460] 5051294045135
U6770 [AvhR2yA—AO—70:2WDA7AVM ¥1,460] 5051294045241
U6558 |S=Z/51%:2WD/4AWDH¥ V)Y ¥1,550] 5051294023607
U6804 [S=F.2:2WD/4WD ¥HEV+ ¥1,550] 5051294100070
U6824 [S=4—k:2WDEZOVH ¥1,460] 5051294100988
U6826 [S=4—h:2WD/4WDHHAH)Y ¥1,550] 5051294101008
U6738 [1~F7—2WDH Zavk ¥400| 5051294029630
U6734 [1F+—2WD/4WDHH Jv ¥400| 5051294024277
U7030 [F7&F—IT/C2.5mm(14)

U7031 [Zorda—=Iv/s—RAJ4%YF8mm (4) ¥580] 505129405777
U7047 [DX ARG AR 2 av A5y 7B Cougar KC/D ¥2,350] 5051294115937




an_ & =Y E_{f N—a—F
U7048 [FIVISUF) 72k CougarKC ¥1,600] 5051294115944
U7050 [wVFR75—& Yk Cougar KC/D ¥3,000] 5051294115968
U7051 [Fv7Fv%F/34aYME Cougar KC/D ¥400[ 5051294115975
U7072 [7B>ka—)V/s—E vk Cougar KC/D ¥2,200] 5051294116187
U7086 [#/3—ERr> 2:F—Nb1.6mm (2) ¥680| 5051294116323
U7087 [#13—EZRb> 2~ 1.7mm (2) ¥680[ 5051294116330
U7091 [Zor ko192 MYk Cougar KC/D ¥2,200| 5051294116378
U7092 [7Ok24522k Cougar KC/D ¥850[ 5051294116385
U7093 [70k242% Cougar KC/D ¥1,600] 5051294116392
U7097 [H—#>>+Z— Cougar KC/D ¥9,500] 5051294116439
U7098 [ZWSHAFHKYE (2) Cougar KC/D ¥3,900] 5051294116446
U7099 [7OYZA~—#%— 2mm Cougar KC ¥750[ 5051294116453
U7100 [J¥O—7x—&vk Cougar KC ¥2,200] 5051294116460
U7110 [F=NF7JENrFVF Cougar KC ¥1,300] 5051294116569
U7131 [7avh>av7evk (A7) 58L) ¥6,200] 5051294116774
U7132 [Jr>avoevk (R7V 8L ) ¥6,200] 5051294116781
U7134 [ZNS70/M)77k CougarkC/D ¥2,000] 5051294116804
U7135 [702ha77—4 Med Flex (2) Cougar KC/D ¥1,350] 5051294116811
U7137 [KC—KD > /"—Ta F vk ¥19,800[ 5051294116835
U7295 [Y+—>707%%— KC/KD ¥850[ 5051294123048
G342 S [Ya—2vh—OdTI+Y(RIE—) S ¥3,000| 5051294076399
G342 M[>a—2vH—0OdT+Y(RIE=) M ¥3,000| 5051294076405
G342 L [>a—2vh—OdT+Y(RIE—) L ¥3,000| 5051294076412
G342XL[>a—2vh—OdTI+/(RIE=) XL ¥3,000| 5051294076429
G343 M|>a—vyH—7—FftEbL—F—(21E—-) M ¥6,800| 5051294076474
G343 L [Ya—vyh—T—FEbL—F—(R1E—) L ¥6,800| 5051294076481
G343XL|>a—vyh—7—FFE—F—(RIE—) XL ¥6,800| 5051294076498
G353 [Ya—vyh—HFRAEYbh7Y7E—K 40X30X6 ¥5,500| 5051294082109
G354 [Ya—2vh—tvhFvTE—FI1\vF ¥2,600] 5051294091071
AX002 |AEROX Z1hx/b%TF 1Yk Cougar KC/KD ¥4,100| 5051294129002
AX003 [AEROX Ib771b714bE'T1t2vb Cougar KC/KD ¥4,100| 5051294129019
REEH2018.05
HBEOEBGECLY FPERMMELEREZITIENTSVET HO. I5Ts

BAAR HERERTEEMT2098-4 TEL-0749—22—3747




an_ & =Y E_{f N—a—F
U7048 [FIVISUF) 72k CougarKC ¥1,600] 5051294115944
U7050 [wVFR75—& Yk Cougar KC/D ¥3,000] 5051294115968
U7051 [Fv7Fv%F/34aYME Cougar KC/D ¥400[ 5051294115975
U7072 [7B>ka—)V/s—E vk Cougar KC/D ¥2,200] 5051294116187
U7086 [#/3—ERr> 2:F—Nb1.6mm (2) ¥680| 5051294116323
U7087 [#13—EZRb> 2~ 1.7mm (2) ¥680[ 5051294116330
U7091 [Zor ko192 MYk Cougar KC/D ¥2,200| 5051294116378
U7092 [7Ok24522k Cougar KC/D ¥850[ 5051294116385
U7093 [70k242% Cougar KC/D ¥1,600] 5051294116392
U7097 [H—#>>+Z— Cougar KC/D ¥9,500] 5051294116439
U7098 [ZWSHAFHKYE (2) Cougar KC/D ¥3,900] 5051294116446
U7099 [7OYZA~—#%— 2mm Cougar KC ¥750[ 5051294116453
U7100 [J¥O—7x—&vk Cougar KC ¥2,200] 5051294116460
U7110 [F=NF7JENrFVF Cougar KC ¥1,300] 5051294116569
U7131 [7avh>av7evk (A7) 58L) ¥6,200] 5051294116774
U7132 [Jr>avoevk (R7V 8L ) ¥6,200] 5051294116781
U7134 [ZNS70/M)77k CougarkC/D ¥2,000] 5051294116804
U7135 [702ha77—4 Med Flex (2) Cougar KC/D ¥1,350] 5051294116811
U7137 [KC—KD > /"—Ta F vk ¥19,800[ 5051294116835
U7295 [Y+—>707%%— KC/KD ¥850[ 5051294123048
G342 S [Ya—2vh—OdTI+Y(RIE—) S ¥3,000| 5051294076399
G342 M[>a—2vH—0OdT+Y(RIE=) M ¥3,000| 5051294076405
G342 L [>a—2vh—OdT+Y(RIE—) L ¥3,000| 5051294076412
G342XL[>a—2vh—OdTI+/(RIE=) XL ¥3,000| 5051294076429
G343 M|>a—vyH—7—FftEbL—F—(21E—-) M ¥6,800| 5051294076474
G343 L [Ya—vyh—T—FEbL—F—(R1E—) L ¥6,800| 5051294076481
G343XL|>a—vyh—7—FFE—F—(RIE—) XL ¥6,800| 5051294076498
G353 [Ya—vyh—HFRAEYbh7Y7E—K 40X30X6 ¥5,500| 5051294082109
G354 [Ya—2vh—tvhFvTE—FI1\vF ¥2,600] 5051294091071
AX002 |AEROX Z1hx/b%TF 1Yk Cougar KC/KD ¥4,100| 5051294129002
AX003 [AEROX Ib771b714bE'T1t2vb Cougar KC/KD ¥4,100| 5051294129019
REEH2018.05
HBEOEBGECLY FPERMMELEREZITIENTSVET HO. I5Ts

BAAR HERERTEEMT2098-4 TEL-0749—22—3747




